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QUESTION 1

For which database operation would you need the database to be in the MOUNT state?

A. Renaming the control files

B. Re-creating the control files

C. Dropping a user in your database

D. Dropping a tablespace in your database

E. Configuring the database instance to operate in the ARCHIVELOG or NOARCHIVELOG modes

Correct Answer: E

QUESTION 2

Which three are true about UNDO data? (Choose three.)

A. It is used during online backups to guarantee their consistency

B. Itis used to roll back failed transactions

C. Itis used to recover dropped tables by using FLASHBACK TABLE ... TO BEFORE DROP
D. Itis used to rewind a database by using FLASHBACK DATABASE

E. It is used to provide read consistency

F. It is used to enable ROLLBACK statements to roll back uncommitted updates

Correct Answer: DEF

QUESTION 3

A database user SMITH tries to query the VSSESSION view and fails to access it as follows:

S0l connect smith/smith
Zonnected.

SOL= SELECT * FROM v$session;
SELECT * ITROM wisession

W

ERRCOR atline 1;
DRAD0942: table or view does not exist

Which are the two possible solutions to enable SMITH to query the data in V$SESSION? (Choose two.)
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A. granting SELECT privilege to SMITH on V$SESSION

B. granting SELECT privilege to SMITH on V_$SESSION C. asking the user SMITH to run the catalog.sql script
D. granting SELECT privilege to SMITH on V$FIXED_TABLES

E. setting the O7_DICTIONARY_ACCESSIBILITY parameter to TRUE

F. creating a view based on V$SESSION and granting SELECT privilege to SMITH on the view that was created

Correct Answer: BF

QUESTION 4

Identify two situations in which the block header grows in a data block. (Choose two.)
A. When row directories need more row entries

B. When there is row migration in the data block

C. When there is an increase in the PCTFREE value for the data block

D. When more transaction slots are required than are initially configured

Correct Answer: AD

QUESTION 5

Which two kinds of failures make the Data Recovery Advisor (DRA) generate a manual checklist? (Choose two.)
A. Failure when no standby database is configured

B. Failure because a data file is renamed accidentally

C. Failure that requires no archive logs to be applied for recovery

D. Failure due to loss of connectivity-for example, an unplugged disk cable

Correct Answer: BD
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